Emission Control      
Name ______________________________
      
     X340 Systems Questions
Answer the following questions using the text “Automotive Technology – A Systems Approach”.

1. Describe each of the following engine exhaust emissions.

Hydrocarbons -

Carbon Monoxide –

Oxides of Nitrogen –

2. List 3 basic types of emission control systems, and provide an example of each one.

-

-

-

3. What is blowby?

4. Provide 3 examples of how blowby can be damaging to the engine.

-

-

-

5. What system deals with blowby, and briefly explain how it works
-

-

6. Describe a quick check of the PCV valve (engine off).
7. What is the purpose of the exhaust gas recirculation system?

8. Are oxides of nitrogen formed at lower or higher combustion temperatures?

9. Circle 1 or more of the following situations when exhaust gas is allowed to flow through the EGR 
system.



- full throttle,    -part throttle,    - idle,    - starting,

10. Does the thermal vacuum switch allow vacuum to flow to the EGR in a cold or in a warm engine?

11. Why is it better to use venturi vacuum rather than manifold vacuum to operate the EGR valve?

12. What is ported vacuum?
13. How is the engine affected if the EGR valve is stuck closed, or stuck open?

- closed

- open
14. Which 2 exhaust emissions are reduced by heating the intake air when the engine is cold?

-






-

15. How is the engine affected if the heated air inlet is stuck closed, or stuck open?
- closed

- open
16. Is the manifold heat control valve operation more similar to the EGR valve or the heated air inlet?

17. What exhaust gases are reduced by blowing fresh air into the exhaust gas as it leaves the engine?
18. What is the most effective and simplest method of reducing exhaust emissions?

19. What is the purpose of the evaporative emission control system?

20. What part stores fuel vapors from the gas tank, and expels these vapors to the intake manifold when 
the engine is running?

21. List 3 causes of high hydrocarbon emissions.
-




-




-

22. List 3 causes of high carbon monoxide emissions.

-




-




-
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